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LINEAR EQUATION IN TWO VARIABLES

Linear Equation In Two Variables

1. The linear equation  has

A. a unique solution

2x − 5y = 7

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_SaLeN8SvBvEB


B. two solutions

C. infinitely many solutions

D. no solution

Answer: C

Watch Video Solution

2. The equation 2x+5y=7 has a unique solution,

if x and y are

A. natural numbers

https://dl.doubtnut.com/l/_SaLeN8SvBvEB
https://dl.doubtnut.com/l/_9TqDoqkIUYEH


B. positive real numbers

C. real numbers

D. rational numbers

Answer: A

Watch Video Solution

3. If  is a solution of the linear equation 

, then the value of  is

A. 4

(2, 0)

2x + 3y = k k

https://dl.doubtnut.com/l/_9TqDoqkIUYEH
https://dl.doubtnut.com/l/_97cE2BiV5igI


B. 6

C. 5

D. 2

Answer: A

Watch Video Solution

4. Any solution of the linear equation

 in the two variables is of the

form

2x + 0y + 9 = 0

https://dl.doubtnut.com/l/_97cE2BiV5igI
https://dl.doubtnut.com/l/_UUvFFfqTpBpz


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution
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2
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2
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5. The graph of the linear equation 2x+3y=6

cuts the Y-axis at the point

https://dl.doubtnut.com/l/_UUvFFfqTpBpz
https://dl.doubtnut.com/l/_tlehoDvM9vWi


A. (2,0)

B. (0,3)

C. (3,0)

D. (0,2)

Answer: D

Watch Video Solution

6. The equation x=7, in two variables can be

written as

https://dl.doubtnut.com/l/_tlehoDvM9vWi
https://dl.doubtnut.com/l/_sOaCPGIFUjex


A. 

B. 1.x+0.y=7

C. 0.x+1.y=7

D. 0.x+0.y=7

Answer: B

Watch Video Solution

1. x + 1. y = 7

7. Any point on the X-axis is of the form

A. (x,y)

https://dl.doubtnut.com/l/_sOaCPGIFUjex
https://dl.doubtnut.com/l/_c9aD0v23Av4Z


B. (0,y)

C. (x,0)

D. (x,x)

Answer: C

Watch Video Solution

8. Any point on the line  is of the

form

A. 

y = − x

(a, a)

https://dl.doubtnut.com/l/_c9aD0v23Av4Z
https://dl.doubtnut.com/l/_pIVqz4FLxEJs


B. 

C. 

D. 

Answer: D

Watch Video Solution

(0, a)

(a, 0)

(a, − a)

9. The equation of X-axis is of the form

A. x=0

B. y=0

https://dl.doubtnut.com/l/_pIVqz4FLxEJs
https://dl.doubtnut.com/l/_2jHpiFHxjz8i


C. x+y=0

D. x=y

Answer: B

Watch Video Solution

10. The graph of y=6 is a line

A. parallel to X-axis at a distance 6 units

from the origin

https://dl.doubtnut.com/l/_2jHpiFHxjz8i
https://dl.doubtnut.com/l/_t1p7bIhg7Gid


B. parallel to Y-axis at a distance 6 units

from the origin

C. making an intercept 6 on the X-axis

D. making an intercept 6 on both axes

Answer:

Watch Video Solution

11. x=5 and y=2 is a solution of the linear

equation

https://dl.doubtnut.com/l/_t1p7bIhg7Gid
https://dl.doubtnut.com/l/_9HEDCvCyJfQw


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x + 2y = 7

5x + 2y = 7

x + y = 7

5x + y = 7

12. If a linear equation has solutions (-2,2)(0,0)

and (2,-2), then it is of the form

https://dl.doubtnut.com/l/_9HEDCvCyJfQw
https://dl.doubtnut.com/l/_EhFvoJlM7Kis


A. y-x=0

B. x+y=0

C. 

D. 

Answer: B

Watch Video Solution

−2x + y = 0

−x + 2y = 0

13. The positive solutions of the equation

ax+by+c=0 always lies in the

https://dl.doubtnut.com/l/_EhFvoJlM7Kis
https://dl.doubtnut.com/l/_dmfJH1iaBgJZ


A. Ist quadrant

B. IInd quadrant

C. IIIrd quadrant

D. IVth quadrant

Answer: A

Watch Video Solution

14. The graph of the linear equation 2x+3y=6 is

a line which meets the X-axis at the point.

https://dl.doubtnut.com/l/_dmfJH1iaBgJZ
https://dl.doubtnut.com/l/_TYVulu8ULBcY


A. (0,2)

B. (2,0)

C. (3,0)

D. (0,3)

Answer: C

Watch Video Solution

15. The graph of the linear equation y=x passes

through the point

https://dl.doubtnut.com/l/_TYVulu8ULBcY
https://dl.doubtnut.com/l/_2ip36bPppDYS


A. 

B. 

C. (1,1)

D. 

Answer:

Watch Video Solution

(3/2, − 3/2)

(0, 3/2)

( − , )
1

2
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16. If we multiply or divide both sides of a

linear equation with a non-zero number, then

the solution of the linear equation.

https://dl.doubtnut.com/l/_2ip36bPppDYS
https://dl.doubtnut.com/l/_YQ27paaN8xjH


A. changes

B. remains the same

C. Only changes in case of multiplication

D. Only changes in case of division

Answer: B

Watch Video Solution

17. How many linear equations in x and y can

be satisfied by  and  ?x = 1 y = 2

https://dl.doubtnut.com/l/_YQ27paaN8xjH
https://dl.doubtnut.com/l/_95W8lPFeVRRt


A. Only one

B. Two

C. Infinitely many

D. Three

Answer: C

Watch Video Solution

18. The point of the form (a,a) always lies on

A. X-axis

https://dl.doubtnut.com/l/_95W8lPFeVRRt
https://dl.doubtnut.com/l/_8eiBN4VRlmQP


B. Y-axis

C. the line y=x

D. the line x+y=0

Answer: C

Watch Video Solution

19. The point of the form (a,-a) always lies on

the line

A. x=a

https://dl.doubtnut.com/l/_8eiBN4VRlmQP
https://dl.doubtnut.com/l/_Zqq1aZSLQAaE


B. y= -a

C. y=x

D. x+y=0

Answer:

Watch Video Solution

20. The point (0,3) lies on the graph of the

linear equation 3x+4y=12.

Watch Video Solution

https://dl.doubtnut.com/l/_Zqq1aZSLQAaE
https://dl.doubtnut.com/l/_luRMnZG6cAoW


21. The graph of the linear equation x+2y=7

passes through the point (0,7).

Watch Video Solution

22. The graph given below represents the

linear equation x+y=0. 

https://dl.doubtnut.com/l/_9WedcqnhhDhd
https://dl.doubtnut.com/l/_QlyZmLWIt6o7


Watch Video Solution

23. The graph given below represents the

linear equation x=3. 

Watch Video Solution

https://dl.doubtnut.com/l/_QlyZmLWIt6o7
https://dl.doubtnut.com/l/_BglplwzDTFev


24. The coordinates of points in the table 

 


represent some of the solutions of the

equation x-y+2=0.

Watch Video Solution

25. Every point on the graph of a linear

equation in two variables does not represent a

solution of the linear equation.

Watch Video Solution

https://dl.doubtnut.com/l/_D1hAglr2bk50
https://dl.doubtnut.com/l/_jULe2ro2rPmh


26. The graph of every linear equation in two

variables need not be a line.

Watch Video Solution

27. Draw the graphs of linear equations y=x

and y=-x on the same cartesian plane. What do

you observe ?

Watch Video Solution

https://dl.doubtnut.com/l/_jULe2ro2rPmh
https://dl.doubtnut.com/l/_GPVMePBy5Di9
https://dl.doubtnut.com/l/_G1CmcLzoje5J
https://dl.doubtnut.com/l/_lUGHQLCmszj6


28. Determine the point on the graph of the

linear equation 2x+5y=19 whose ordinate is

 times its abscissa.

Watch Video Solution

1
1

2

29. Draw the graph of the equation

represented by a straight line which is parallel

to the X-axis and at a distance 3 units below it.

Watch Video Solution

https://dl.doubtnut.com/l/_lUGHQLCmszj6
https://dl.doubtnut.com/l/_E7wt15cuQJBW


30. Draw the graph of the linear equation

whose solutions are represented by the points

having the sum of the coordinates as 10 units.

Watch Video Solution

31. Write the linear equation such that each

point on its graph has an ordinate 3 times its

abscissa.

Watch Video Solution

https://dl.doubtnut.com/l/_WXpV6n5puJKR
https://dl.doubtnut.com/l/_CpyO5bcAYWFa
https://dl.doubtnut.com/l/_Joo2u1cn3ycU


32. If the point (3, 4) lies on the graph of

3y=ax+7, then find the value of a.

Watch Video Solution

33. Solve the equation and

represent the solution(s)on (i) the number

line(ii) the Cartesian plane.

Watch Video Solution

2x + 1 = x − 3

https://dl.doubtnut.com/l/_Joo2u1cn3ycU
https://dl.doubtnut.com/l/_0tLARraHdWzG


34. Find the solution of the linear equation

x+2y =8 which represents a point on 

(i) X-axis (ii) Y-axis

Watch Video Solution

35. For what value of c, the linear equation

2x+cy=8 has equal values of x and y for its

solutions ?

Watch Video Solution

https://dl.doubtnut.com/l/_aZXQti40LHJ7
https://dl.doubtnut.com/l/_4rdV5j1CCEUL
https://dl.doubtnut.com/l/_lZyLZTRW3pWf


36. Let y varies directly as x. If y=12 when x=4,

then write a linear equation. What is value of y

when x=5 ?

Watch Video Solution

37. Show that the points A (1,2), B(-1, -16) and C

(0, -7) lie on the graph of the linear equation

y=9x -7.

Watch Video Solution

https://dl.doubtnut.com/l/_lZyLZTRW3pWf
https://dl.doubtnut.com/l/_4roKDEjqEeiI
https://dl.doubtnut.com/l/_2V0M9fJW6ak2


38. The following observed values of x and y

are thought to satisfy a linear equation. Write

the linear equation 

 


Draw the graph using the values of x, y as

given in the above table. 

At what points the graph of the linear

equation 

(i) cuts the X-axis ? (ii) cuts the Y-axis ?

Watch Video Solution

https://dl.doubtnut.com/l/_2V0M9fJW6ak2
https://dl.doubtnut.com/l/_OjFbiLPfg5Qv


39. Draw the graph of the linear equation 3x +

4y = 6. At what points, the graph cuts X and Y-

axes ?

Watch Video Solution

40. The linear equation that converts

Fahrenheit (F) to Celsius (C ) is given by the

relation, . 


(i) If the temperature is  F , what is the

temperature in Celsius ? 

(ii) If the temperature is C, what is the

C =
5F − 160

9

86∘

35∘

https://dl.doubtnut.com/l/_OjFbiLPfg5Qv
https://dl.doubtnut.com/l/_cw4XumAdtTTz


temperature in Fahrenheit ? 

(iii) If the temperature is C, what is the

temperature in Fahrenheit and if the

temperature is F, what is the temperature

in Celsius ? 

(iv) What is the numerical value of the

temperature which is same in both the scales

?

Watch Video Solution

0∘

0∘

https://dl.doubtnut.com/l/_cw4XumAdtTTz


41. If the temperature of a liquid can be

measured in kelvin units as  or in

fahrenheit units as , the relation between

the two systems of measurement of

temperature is given by the linear equation. 

 

(i) find the temperature of the liquid in

fahrenheit, if the temperature of the liquid is

313 K. 

(ii) If the temperature in kelvin.

Watch Video Solution

x ∘ K

y ∘ F

y = (x − 273) + 32
9

5

https://dl.doubtnut.com/l/_l8aHc0pnTk4x


42. You know that the force applied on a
body

is directly proportional to the acceleration

produced in the body. Write an
 equation to

express this situation and plot the graph of

the equation.

Watch Video Solution

https://dl.doubtnut.com/l/_Xv511u3hWb8R

